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Tabela de Integrais
[sinz dr = —cosz

[cosz dz =sinz

J tanz dz = In|sec x|
Jcotz dr = —In|cscz]
[secz dr = In|secx + tanz|
J escx dr =1In|escx — cot z
[sec?z dz = tanz

Jesc?z dr = —cotx

[ seczr tanz dz = secx

Jescz cotz dr = —csex

Relagoes Trigonométricas

sin? =1 —cos?
coslzr=1-—sin’zx
sin2 T = 1-—cgs21'

0032 T = 1+cgs21'

sin 2x = 2sinx cosx

cos2r = cos?x — sin’

1+tan?z = sec?z

14+ cot?x =csc?x

sinmasinnz = £ cos(m — n)z — § cos(m +n)z

cos mz cosnz =  cos(m + n)z + 3 cos(m — n)z

:sin(m — n)z + § sin(m + n)z

sin mx cosnx = -

a2
1_2:22, cosy = =2

Substituicao itil: z =tang, sinz =

1422
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